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For #1 — 5: Complete each proof.

Given: 25 and 27 form a linear pair
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1. 25 and 47 form a linear pair
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10} Find y in the diégram shown.
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11y If A(CE‘/D) AR ﬁ which of the following 1s true?

AT L0 = LY LE = LR, LD = LP Lo and £ Ve {n Yhe SOME pogition
BT 40 = /Q/LE ZP, 2D = LR

G 2C= IR LE = LR, 4D = 40 in-Ahe concrueyy CL{S soerement, Ths NEANS,
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12) Use the diagram fo the right to complete the congruence statement:

AFDE = ACAB A

13) Multiple Choice. The triangles below are coneruent. Whlch statement correctly describes the congruence
of the triangles shown in the diagram below?

_AXTAACD = AAED; by SAS
(B) AACD = AAED; by ASA
_C7 AACD = ADAE; by SAS

D. AACD = ADAE; by ASA

For #14 — 15: Find the variable(s).
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For #17 —19: Provide the postulate or theorem why each set of triangles are congruent. Choose from
SSS, SAS, ASA AAS, or HL.
17)

For #20 —22: Using the triangles from #18, complete the following: o
20) AACB = _AXZY 21) 2C= L7 2) XZ = _AC

For #23 — 24: use the provided diagrams.
23) Name the smallest and largest angle. 24) Name the shortest and longest sides.
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25) Multiple Choice. Which side lengths below could form a real triangle? Select all that apply.

A. 3 4 7 g fi .......
(B) 9,2,10 Q4510
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26) WZ is the perpendicular@ectm of XY. Find the value of n.
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27) TE isa medlan Find the length of SR 1f ER =3.7.
“\KX(E\\F 577137 = F]T A
T
L‘C’\(S(’\('ﬁ” B
28) Given that BD is an faltl‘cude find the value of each variable.
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